s1
1 2
2 3
Us*
PIC10F200T-1/OT
/e N L1 D1 VCC+5V
us >l GPo/ICSPDAT GP3/MCLR/VPP 330 MBRO520LT -
MCP73831T-2ACI/OT g VSS VDD i * 1200 I ! RF3
15 Y%A prROGE b >3 GP1/ICSPCLK  GP2/TOCKI/FOSC4 L, . 100k
o : 3 o T 00nF MT3608 Ti0k
Al 5 RF2
z| EN FB5 4] VTF1 10k
g IN GND & ——~C39 IRLML6402 73 |—|:|—o
T BN sw L 220uF
——C37 R36 220uF ° ==(C35
4.7UF P1 1k R29 10uF
7 -u Vin- caa 15k 18
BAT- 0805 5T TlOuF Vibro+
l 1: 4 @ 4 @ @ I @ L 2
Q'lt* =
IRLMLOO30TRPBF GND D3 N
MBRO520LT 2
10ro-
GND
e
1K
VCC+5V
lCSZ l'031 Lcss
VCCH5V TlOOn T100n TlOOn
£
GND
VCCH+5V VCCH+5V
R39 -
10m
L ¢ L VCC +5V VCC+5V
==c27
R16 100nF
10
U6
ATMEGA328P-AU []R20
U4 c29 1— —; (PCINT19/0C2B/INT1)PD3 PD2(INTO/PCINT18) [22 10k
L 20 R17 I::IR18 LM393M P GND 2l (PCINT20/XCK/T0)PD4 PD1(TXD/PCINT17)
T 10uF 10 280 5 4 o —ﬂﬂ—‘ 2| GND PDO(RXD/PCINT16)
6 3 5 vee PC6(RESET#/PCINT14) |2 ) [
21 2 o GND PC5(ADC5/SCL/PCINT13) =
T Sooue R19 []R25 R26 - 8 vee PC4(ADC4/SDA/PCINT12) GND
o Ak 10K o 7 5 IE 0 £ (PCINTB/XTAL1/TOSC1)PB6 PC3(ADC3/PCINT11) % RS4
Q1 P o [ 1 I_E 8 1 o (PCINT7/XTAL2/TOSC2)PB7 PC2(ADC2/PCINT10) [£2 VCC+5V 1
BC80T-16LT3G - =5 |« (PCINT21/0COB/T1)PD5 PC1(ADC1/PCINT9) 52 RS2
Tx+ S R21 R27 = oz | = X3 (PCINT22/0COA/AINO)PD6 PCO(ADCO/PCINTS) |2 100k
J2 ¥ e 6.2k 10K GND 13| (PCINT23/AIN1)PD7 ADC7 B
1 L1 il 1 L S | 14| (PCINTO/CLKO/ICP1)PBO GND 22
R8 c30 1] (PCINT1/OC1A)PB1 AREF (2
500 .==.%4F R22 12pF 15| (PCINT2/SS#/0C1B)PB2 ADC6 T% =='%10 T37
c22 n 27k (PCINT3/0OC2A/MOSI)PB3 AvVCC u U9
B —=ca 10nF Ras T I Rgg[] 18 (PCINT4/MISO)PB4 PB5(SCK/PCINT5) L Rss NS8002 TlOu 236
) 470nF II _—— GND VCC +5\1 3k e voz ° (1)
i. . Toone B3 2 Bypass GND £ £Ls
=—=C26 R24 i 3k I +IN VDD c ’ Sp
L 4 L 4
= 6 RS6 ==CS5 ook
\ 10k 100nF — -
GND isp header 00n ¢ 1 I 9 &-\CSS P3
GN RS 220uF IR-
MO SC o 1
1nF (1)
JLX128X64 VC MI = HH 1
12 - =
O T T == GND GND
O75 =
<Cg sda
<08 clk
<C7 vdd
©6 VSS
<CS leda
<O
=
GND
R2
130k
1
— R13
2.2M
c2 VCC+5V Cc13 1
S60pF 100nF L
¢ Il ) T M C15
1} _| 3.3n
V%C+5V GND Il ?
I U2
- MC14053BDG U3.2
8
u1 100nF >1% g \\//EE 7 R12 Cc14 LMV342MA/NOPB
ADBG0SARTZ-R2 1l > Voo B 10k ﬂom: 5 R15
R4 C5 12 il R6 ¢ \l\ —
c3 4 ™ GND E 1K 470nF 13/ 59 9 7! oM <l 2 7 . ] . .
J3 Rx+ 47nF 14 m 14 z1 gé [ 1 +/|/
m 3 o 15 —
1} il * £ Y YO cs
R10 C12 VDD Y1+ 3.3nF R14
o 39% i ¢ i ¢ 100k
“— 11}
= VCC+5V ==C10
[]Rs []Rl GND U3.1 3.3nF
30K 240 c7 | tmvaazmamo R7
R5 % 20k
R11 10k 470nF R9
5.6k . — Il" ) 2 > ok
E 3 1 \ 4 4 L 4 2
==c1 + L
100nF ==c16
<
6 =cu 100nF co ==c17
=05 100nF 2.2uF 2.2uF
J4 Rx- —
(1) ® ® ® ° o o—eo GND ®
GNDA
VCC+5V
R34
ras 1.8k
0
[
- N
==c28
10uF Us
o  ATL431BQDBZR




